FREFRMRB F (2023KEThR) xIsmBFFEE 7l

BA WD) |HiX% FEEFH g
1A)A D RAR—Y 55T E= 4 [lhO B 9.65
1A V)AL AR—Y 95T = 5 |:B% 1GEX 9.60
A= KIEHST 6 [ EW 9.50
A ERBARIESISD 5 |8 HE 9.45
5|4 1)A L AR—Y 95T H= 5 [ BBy ERX 9.40
6 B #AKIEYS7 6 [0 EE 9.35
6| A—JKIEYSD 4 |HTH FEf 9.35
8| A—JKigH>52 4 [luO A 9.30
I/MEHFEIEYST EA 6 (KB & 9.25
10[FyR)ILHSDT AN 3 [ EAH EX 9.20
1{AVARR—YHS5TE=E EAN 3 |:BF KB 9.15
12T 1=THREHE 6 [JII4F WMEA 9.05
13[ERBRZEYSD R 9.00
13|EXtRmEEY>7 EA 5 |&H BXK 9.00
15[ VAV RER—YHIS5T = 6 |[BAR 8.95
16 [ERBRZERYSD 3 IRK ER 8.80
16|FuX)L55T A 3 (WA B 8.80
18 ER#BAZEIST EA 3 /MR H 8.75
18/NEFIRIEOST EA 4 (L EX 8.75
20|AUAREKR—YHS5T7HE BA [ 2 [lLO fF 8.70
1| SHOLZTIRERE 5 |EE AN 8.55
2| SHTA=THRERE EA 4 |58 B 8.50
| SHO1ZTHREHE 3 |=& 8.40
| STHOAZTIRERE 5 |Z5k Eth 8.25




FREFRMRB F (2023KEThR) xIsmBFFEE 7l

BAGBAE) |HIEXE FEEFH B/
1AV A L RR—Y 55T = 4 lbA B3 9.95
1(EER#&REISD 6 [0 EE 9.95
|AUA L RAR—Y 95T 1H=E 5 ;8% HESX 9.90
A A A AR—Y 95T 1H= 5 | EB EXRX 9.80
SEBHAKIEYSD 5 |iIF#h K 9.50
5|RRhAIEYS7  EA 5 |&H BK 9.50
1AVAVRHR—YH5TM=E EA | 3 ;B KE 9.45
8| A—JlKigy>7 4 [lLBA o 9.30
8|FyRILHYST EA 3 [EAH EX 9.30
10/NEiRiEY57 EA 6 | KB & 9.25
10[EHPa=—THEHRE 6 [JI# WEA 9.25
12[A )AL RAR—Y 95T = 6 [IBR &Rk 9.00
13[FyRILHST AN 3 |FHE B 8.95
14FE,¥E17M*’777 3 |HE w1 8.90
14[EHP1=THEHE 5 @ F|A 8.90
16| ST LT HRIEHRE 5 |BEik Bt 8.85
17[A—D Ay 57 6 |F 1B 8.75
18]S a=7HIEEE EA 4 |5E B 8.65
19ERHKEYSD KEES |_5E 8.35
0 ERHAKIEIST EA 3 \hNR 8.30
2Q|AUARR—YH5TM=E BEA | 2 [lUO F1ZE 8.20
2 A—) K2y 52 4 |HTH FEf 8.00
2|STHo =7 ERIEHRE 3 |=B 8.00
24| /NEFARIRESST EA 4 |ILg EX 7.95




FREFRMRB F (2023KEThR) xIsmBFFEE 7l

EPNEGE D[Sl FEEFSA Ba
1A)A D RAR—Y 55T E= 4 [lhO B 9.30
1A V)AL RAR—Y 95T = 5 [ BBy ERX 9.20
3|ANA L AKR—YH 5T = 5 |:B% 1GEX 8.85




FREFRMRB F (2023KEThR) xIsmBFFEE 7l

BAGKE) |Hixs FEEFH B/
1AV A L RR—Y 55T = 4 [Ilba BEmX 9.70
1A VA ZAR—Y 95T 1H=E 6 |BBAR &k 9.65
|AUA L RR—Y 95T == 5 ;8% 1BEX 9.60
A ERBREYISD 6 [0 EE 9.55
A ERBREYISD 5 I K 9.55
6|A A RAR—Y 95T H=E 5 [ EB ERX 9.50
6|STH =T RIEHRE 6 [JI# WEA 9.50
8| RIRhAIEYS7  EA 5 |&H BK 9.45
IERBRIEYISD 3 U w1 9.35
I A—TJKIEH>T 4 [lLBA o 9.35
I STH =T HRIEHRE 5 @ F|A 9.35
12|FyRILHST AN 3 |FHE B 9.30
13[SHPa=7HRIEEZE BEA 4 [Fr # 9.25
13[FyRILHST AN 3 [EAH EX 9.25
15 VAV RFR—YHo57#= @A | 3 [[BF XE 9.20
16[A—D Ay 57 6 |F 1B 9.15
17/ N Rigs57 EA 4 |ILg EX 9.05
18| SHU AT IRIEHE 5 |BEik Bt 9.00
18| ST 1A =7HiIgH=E 3 |=B 9.00
20|AUARAR—YHS5TME BEA | 2 [lUO F1ZE 8.95
21 |/NEFRIEYST EA 6 | KB & 8.90
2| ERHKIEYSD 3 KX BER 8.85
23| A—JKigHs52 4 |ETH FEf# 8.80
4 ER#AIEIST EA 3 \hNR 8.60




FREFRMRB F (2023KEThR) xIsmBFFEE 7l

BA CET#) |Hix 4 FPEEFSH Bga
1AV A L RR—Y 55T = 5 ;8% 1BEX 9.00
1A VAL ZAR—Y 95T H=E 4 lbA B3 8.90
|AUA L RAR—Y 95T 1H=E 5 [ EB ERX 8.65




FREFRMRB F (2023KEThR) xIsmBFFEE 7l

BA (&%) |FiE£ FEEFH g
1A)A D RR—Y 55D = 4 [lhO B 9.95
1A V)AL AR—Y 95T 1= 5 [ BBy ERX 9.65
3|ANA L AKR—YHS5TH= 5 |:B% 1GEX 9.50
AAVARER—YH5T7MH=E BA [ 3 [[BF XE 9.40
5|FyRILYST AN 3 [ EAH EX 9.25
6| RIRTAIEIST  EA 5 |&H BXK 9.15
NAVA L RR—Y 95T = 6 [BBAX &k 9.10
8| A—"JKigHv>7 4 [ILO BN 9.05
IFyRILYST EA 3 (WA B 8.50
10ERBAKEYSD 6 [0l EE 8.45
HEEE SV P FET D 8.20
[ A= KIEHS5D 6 |F EW 8.20
13[AVAVRR—YHS57H= @A | 2 lLO FE 8.00
14| STHO A= 7 RIEHE 3 |=& 7.50
15|57 RIEHE 6 |JII4F WEgA 7.45
15|51 =7 AR BEHE 5 |EE AN 7.45
11ERBRKEYSD 3 |HiHE w1 7.40
18[A—D T KiEH5D 4 |ETH FEfd 7.35
19[S 1=THREHE 5 |ZEk Eth 7.30
20/NERIRYST EA 6 (KB & 7.25
Q| 5HmPa=T7HhRESHE FEA 4 |58 B 7.15
22|/NEF AR ST EA 4 [lLgy EX 7.10
PRI AL SE VP 3 KX BER 7.00
4 EREARIEIST BEA 3 /MR 6.60




